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Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted

question.

ATYHIAEH F91 B & B BT TTA B2 | TAF 97 3 ()
Il H B HAH Toid IO & [T TH Si% BT AIT |
S ST U BT A<D LT BN |

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.
i TehTieh Jehiedsh IAX Tel I & [Mebe ST o, of Fehead
qel IOX 3 |

01. Who was the founder of the "All India United Kisan Sabha"?
(1) G. K. Gokhale - (2) Swami Sahjanand

(3) S. K. Joshi (4) Lajpat Rai
- oTRee AR d@geT fREM ger @ deergs @ o ?
(1) Sit. &. T (2) @l e
(3) TH. &. s (4) TS "

P.T.0.
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02. Who one of following said that any Indian could not establish the

03.

04,

05.

Indian National Congress?

(1) B.G. Tilak (2) W.C. Hume
(3) G. K. Gokhale (4) M.K. Gandhi

Mt & & a8 e #e1 BF 312 ardad 2R99 Je9e e &
T el &Y Hehel AT ?

(1) &t sit. foees (2) s=1. &. &gd
(3) SW. . rE@ 4) wH. &. Tl

The Swadeshi movement began in India in the year :

SIRA H el RIS T ST g9 av ga o
(1) 1905 (2) 1909 (3) 1916 (4) 1920

M. K. Gandhi was not associated with :
(1) Non-cooperation movement

(2] Civil disobedience movement

(3) Quit India movement

(4) Swadeshi movement

Tq. &. e 399 eS8l o
(1) STHSFT AT (2) afeg Aasn ST=e
(3) T BISI SI<Ia+ (4) @R =

Which of the following provided the legal basis of the election of the
Constituent Assembly ?

(1) The Cripps Plan

(2) The Cabinet Mission Plan

(3) The Mountbatten Plan

(4) The Indian Independence Act



06.

07.

08.
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adg | 99T B IR e § fafve oy fhae ueH
fpar ?

(1) BF| <= (2) dfeFe e <

@) AR=YT A (4) 3R RTTET TR

Who moved the objectives Resolution in the Coﬁstituent Assembly ?
(1) B. R. Ambedkar (2) G.B. Pant

(3) J. L. Nehru . (4) Sardar Patel

G |1 § IRvT gwE e gega G ?

(1) . R. IrASHT (2) Si. &, 9=

(3) St. wd. TS (4) EYEX 9o

Who was not associated with the Congress Socialist Party ?

(1) Jai Prakash Narain (2) Narendra Deo
(3) Ram Manohar Lohia (4) B. R. Ambedkar
Fre1 § 9 @M U SO qEeEK el 9 s q8r or ?
(1) ST 9hIT AT (2) = =G
(3) W "B afea (4) ft. amR. sr=aY
Who continued for six years as the Congress President?
(1) J. L. Nehru - (2) M. K. Gandhi
(3) Abul Kalam Azad (4) G. K. Gokhale
A HIA AT B YT G 6 U qH TN @ ?
(1) & <. A& (2) TH. &. Tl
(3) ST HAH SANIE (4) Si. &. W

5

P.T.O.
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09. At what place the Indian National Congress in 1929, adopted a

resolution for full independence?

(1) Madras (2) Lahore
(3) Karachi (4) Patna

e T 9 1929 § W™ USHE S A qOT WA & 9w
H WHR fhar ?

(1) #=19 (2) dTRIX
(3) e (4) ge

10, Who one of the following was associated with the Swaraj Party?
(1) Moti Lal Nehru (2) J. L. Nehru
(3) Sardar Patel (4) M. K Gandhi

=1 § 9 &9 T @ el 9 TS o7
(1) #xl I« e (2) . oT. ATE®
(3) WX 9w (4) ©d. &. T

11. Who among the following is a Marxist Thinker ?

(1) Berlin (2) Hayek |
(3) Stalin (4) Bottmore.
frer @ B AERGAR] AR § 7

(1) s @) 27

(3) wie (4) R



12.

13.

14.

15.
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Who one of the following was not an extremist?

(1) B.G. Tilak (2) G. K. Gokhale
(3) Lajpat Rai - (4) B.C. Pal
=1 & & @9 % oifardy wdt en?

(1) . i, e (2) Sft. & e
(3) SHT T (4) & & g

Who is the author of the book entitled " The History of the Indian
National Congress"?

(1) Rajendra Prasad (2]. B. Pattabhi Sitaramayya
(3) G.B. Pant : - (4) J. L. Nehru

I TS DA A SREE Ah e Bl A@H BT E 7
(1) o= JE= (2) . gy SarEEn

(3) SU. €. g 4) . U9, 9@

The Cripps Mission visited India in :

e et g & = o oy -

(1) 1940 (2) 1941 (3) 1942 (4) 1943

Who one of the following was associated with the Home Rule League ?
(I) M. M. Malviya | (2) Laj Pat Rai
(3) M. G. Ranade (4) B.G. Tilak

P.T.0.
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Frd & 4 99 oo 8 & o § avrs o ?
(1) TH. uHq. AEEE (2) «=gd A
(3) TH. Sl R (4) . sit. foas

16. Who among the following is an utilitarian ?

(1) Locks (2) Rousseau
(3) Benthom (4) Green
= | % SuaifEmEr §

(1) o (2) =4l

(3) arem | (4) I

17. Which of the following is not correctly matched ?

(1) M. K. Gandhi civil Disobedience

(2) M. Jinnah Khilafat

(3) Moti Lal Nehru Nehru Committee Report
(4) S.C. Bose Forward Block

Frer 7 & T gART T ¥ 7

(1) TH. . T SICERECEE
(2) ©q. R et

(3) A aw EE ew HAd Rt
@ oa. @ e B



18.

19,

20.
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Under \Iavhich article of the Constitution Governor has the power of

promulgate ordinances ?
(1) Article 210 (2) Article 211
(8) Article 212 ' (4) Article 213
W%maﬁ?%mwﬁamﬁmmﬁﬁm
H ARPHR T ?

ST 210 (2) STg=BT 211

) STIWT 212 (4) SAge|T 213

The purpose of article 13 of the Indian Constitution is to establish
Ssupremacy of :

(1) Directive Principle of State Policy

(2) Fundamental Rights

(3) Fundamental Duties

(4) Parliament

R WA & oTedT 13 1 3299 Tue watar i we
g

(1) ™9 % Hify R T (2) TEHT SRR

(3) T = | (4) w9
Freedom of the Press is not provided by the Constitution; but it i
inherent in :
(1) Article 19 (1) (a) (2) Article 19 (1) (b)
(3) Article 20 (4) Article 21
9

P.T.0,
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U9 @ EEEdr & ued aRdE d@feae #§ 98 8 g Fe
\?ﬂ*_dﬁféﬁ%

(1) TIBZ 19 (1) (a) & (2) STIEBR 19 (1) (b) H
(3) oI 20 F (4) orge=RT21H

21. Which of the following writs by the Supreme Court is issued to stop

22.

legal procedure ? |

{1) Habeas corpus (2) prohibition

(3) quo warranto (4) mandamus

e e E Rl W R A de @ R
e & ond fpar snar 8 7

(1) < IR (2) wufSe

(3) SIfAHR-g=oI (4) GIHTRST

Which one of the following influenced most the making of the Indian

Constitution ?
(1) The British Constitution
(2) The U. S. Constitution

(3) The Government of India Act, 1935

(4) The Canadian Constitution
%ﬁ‘mﬁfé{m%ﬁn&wﬁﬁmﬁ%ﬁ@mqﬁﬁmwﬂ@w
(1) fafesr digqem &

(2) wgET T STHIEH % @fasr o

(3) SRE AR A, 1935 &

(4) ST & Hqur

10
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23. Which of the following fundamental rights are available the Indian

24.

citizens only ?

(1) Prohibition of discrimination on grounds of religion, race, caste,

sex or place of birth
(2) Prohibition of traffic in human beings and forced labour
(3) Freedom of religion
(4) Protection of Life and personal liberty.
Frfafed & & $F o A FBR dad =T 3 TR A &
ot ¥ ?

(1) o, gerer, sfa, ™M o1 a9 @ @ enur gv fete @
gfaer .

(2) AT % TR R S w9 @1 ufaRy
(3) & = wciEEr W SIHR
(@) 91 IR e wWomEr FT oGO

The Clause equality before Law in Article 14 of the Indian Constitution
in influenced by :

(1) British Constitution - (2) ‘Constitution of the U. S. A.

(3) French Constitution (4) Swiss Constitution

ﬂﬂ?ﬁqﬁf&m%aﬂi@am-ﬁf&f@rﬁﬂﬁamu‘qﬁa%;

(1) R G @

(2)  FIHF T SARE B e §

3) wg F e &

(4) e afas §

14 :
P.T.0,
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25.

26.

27.

Under which of the Constitutional Amendment Act, the chapter on
Fundamental Duties was added to the Indian Constitutional ?

(1) 40th (2) 42nd (3) 43rd (4) 44th

e dfgear deitad SfRfga & o=l qavd el H ST
gRdg gfag= § St w™r ?

(1) 40 ar (2) 42 df (3) 43 dt (4) 44 4

As per Indian Constitution in State Legislative assemblies the minimum
number of members are :

Tt d@Re @ o wod Rar @l & dEEl & gas
[SEC | I
(1) 30 (2) 40 (3) 50 (4) 60

Which one of the following is not correctly matched ?

(1) Acticle 39 A Equal justice and free legal aid

(2) Article 44 Uniform Civil Code

(3) Article 48 - Separation of judiciary from
executive

(4) Article 51 A Fundamental duties

Frer & @ B o g ol ¥ 7 - |

(1) oT=8% 39A  gue = AR Frges [t

' ISEIREI

(2) STTHX 44 et & Rig o @A faiEd
Gfgar

(3) STIB% 48 riaifersT § AT BT
JeeR T

(4) aqu—:éz 51 A q« A

12
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28. In which of the following article of the Indian Constitution it is stated

30.

that it shall be duty of every citizen of India " to protect and improve

the natural environment" ?

(1) Article 19 |  (2) Article 21
(3) Article 30 (4) Article 51 A

Fr1 & / g d@fe & Bre orgede 3 98 @er T R B g8
| A AR @ Fde A 6 a' wipfes qataRer @ e
Td HaHT &< ? |

(1) oTg=8T 19 (2) SI|T 21

(3) ergB= 30 (4) oIgBT 51%

29,

The Secretariat of the Lok Sabha is controlled by :
(1) Central Home Ministry

(2) Ministry of Parliamentary Affairs

(3) Speaker of the Lok Sabha

(4) Prime Minister

i T HT GfeEeg Fede aar S

(1) %ﬁqﬁwm (2) HEET AHST B HIAE BT
(3) WP AT B Y BT (4) 9UET ERT

Which one of the following is not included in the State List?

(1) Law and order (2) Education
(3) Jail (4) Police

13 P.T.O.
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=1 & | & qm!wﬁf-ﬁﬁsﬂfﬁaﬂﬁ%?
(1) =hA T e (2) fare

(3) =i (4) g

31. Freedoms included in Article 19 of the Indian Constitution can be

suspended by the Indian President under :
(1) Article 352 (2) Article 355
(3) Article 356 (4) Article 359

ST=se 19 # IfcwrEd T @ AR B ARG ol AT I
STIRE B STl Frafe HX qHAT T

(1) STI=B= 352 . (2) AT 355
(3) ATH/T 356 (4) ST 359

32. Which one of the following is mot a function of the Indian Prime

Minister ?
(1) He coordinates functions of different departments

(2) He presides over meetings of the cabinet

(3) He prepares the list of subjects for cabinet meetings

(4| He presides over the joint sittings of the two Houses of Parliament.

ﬁm%rf@ﬁﬁ@ﬁﬁ@nﬂ?ﬁunuﬁﬁsﬁmmﬂ@%?

(1) %ﬁ%ﬁnﬁ%quaﬁwm%

(2) %ﬁﬁsﬁﬁé@fﬁﬁﬂﬁmﬁmwm%

(3) %W%W%W%ﬁa&@m%

@ %w%ﬁgﬁaﬁﬁgwwﬁwﬁzﬁrmw%

14
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34.
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Which one of the followiqg is correct?

(1) Governor can be removed by Parliament

(2) Governor can be removed by State Legislative

(3) Governor can be removed by the President of India

(4) Governor can not be removed before five year

P &3 a9 o 981 & ?

(1) TG I §9g 82T qaaT 2

(2) TSI @ T @ R ser @

(38) ISUUIT I WIRC IEURy g2 Hepem ®

(4) oAU H G a6t @ qf 9 werr o gear ©

Which of the following article provides for impeachment of the President ?

(1) Article 60 (2) Article 61
(3) Article 62 (4) Article 63
%ﬁ@mm@aﬂrm%%'wﬁmwm%?
(1) STg=8% 60 (2) TR 61
(3) STT=|T 62 (4) STg=8T 63

Which one of the following is related to Panchayati Raj?
(1) Santhanam Committee (2) Shah Commission

(3) Ashok Mehta Committee (4) Kothari Commission

15 P.T.O,
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36.

Fre & @ P9 uHh duEEl S § S o7
(1) HIrH HAL (2) SME HHIIH
(3) AN HBAT HACT (4) BT HHIAH

Sarkaria Committee Report is related to :
(1) The Election Commission (2) The Planning Commission

(3) Centre-State relation (4) Judicial reforms

qTHIRAT HAS BT T FEH o7
(1) TIE ST | (2) AT AN H
(3) F=-Tod A (4) e guaR 4

37. The Controller and Auditor General of India can be removed from his

office by :
(1) The Lok Sabha
(2) The Prime Minister

(3) The Supreme Court

(4) In the same manner as a Judge of the Supreme Court

Wmmﬁ%@@ﬁ%aﬁwﬁmmw%:

(1) b g B
(2) Wee HEAl & E

(@) e A & ET
(4) a@maﬁﬁaﬂw%mﬁmwﬂw%

16
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38. Who write the book entitled "Politics in India Since Independence” ?

(1) Jennings (2) Austin

(3) ‘Paul Brass | (4) Rajani Khothari
“difeiiesrd g sfear R RU==9" & d@s B € 7
(1) SFrg 2) ol

(3) df s (4) T e

39. In the Indian Constitution who is regarded as the Guardian of

| fundamental rights ?

(1) The President (2) The Prime Minister
(3) The Judiciary (4) The Legislative

W diau d R qoy sifeRt @ e A ¥
(1) Irgafey (2) SEEHT

(3) =TGR (4) TFEAMYHT

40. In order to elect the Vice-President of India the electoral college

consists of :

(1) Members of the Lok Sabha
(2) Members of the Rajya Sabha
(3) Members of both the Lok Sabha and the Rajya Sabha

(4) Members of Legislative Assemblies of State

7 P.T.0.
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41.

42'

43.

(1) o G491 & dad &l '

(2) I 99T & T2 g1

(3) T |HT wd o9 QAT B GE l &N
(4) A B g gurelt & =9l 3

Who decides whether any Bill is or is not a Money Bill?

(1) President (2) Prime Minister

(3) Finance Minister (4) Speaker of Lok Sabha

e Rrofy 1 ST B a fadge o fagees & St Rl
(1) rsgufe (2) SHEHST

(3) fery =it (4) P TAT FH AWIHT

In which of the following cases, the Supreme Court decided that basic

structure of the Constitution can not be amended ?
(1) Golak Nath Case (2) Keshvanand Bharti Case
(3) Minerva Mills Case (4) Shankari Prasad Case

ﬁ?{ﬁﬁﬁmgﬁﬁﬁwwﬁqﬁmﬁmﬁaﬁ%qﬁ
o @ Helifa el fmar o weenr § 7

(1) TeTh AR GHIHT (2) BYEFTE A FHEHT

(3) Pt foree g (4) iR TETE e

Who decides a dispute concerning election of the Vice-President?

(1) Election Commission (2) Parliament

(3) President . (4) Supreme Court

18
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46.
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w—r@qﬁ%ﬁaﬁww@ﬁwwaﬁwﬁ“ﬁmg?
(1) Fates smEm 2) €8%
(3) Il (4) S=EGH SERE

Who is an idealist?

(1) Laski (2) Austin

(3) Hegel ' (4) Macaiver
ISR Bhie B?

(1) <r=H (2) STR=H

(3) &= ' (4) VwEAT

Under which. article Parliament can form a state?
1) Article 2 . (2) Article 3
(3) Article 4 ' (4) Article 5

R HE S B orgede & ot wEE @ @ 1w @ Tew
B ARYHR ?

(1) ergesz 2 (2) SIg=dT 3

(3) oTg=B= 4 (4) org=RT 5

Which of the following is not correctly matched ?
(1) Abolition of titles

Article 18
(2) Equality before Law | Article 15
(3) Right Against exploitation Article 23
(4) Protection of interests of minorities - Article 29

19 P.T.0.
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47.

48.

Prer & @ @ gafa w8 B ?

(1) IufeEi &1 o= BT 18
(2) fafr & wwer qwan BT 15
(3) <MwvT & Rew AR BT 23
(4) oTeqart & fedl @ WO ATWW 29

Who one of the following is not a pluralist ?

(1) Bodin (2) Laski
(3) Maclver (4) Barker
Fret § @ oW uh ageardl T8 ¥ 7

(1) e (2) R
(3) Feprzax (4) =

Who one of the following said that right is an external condition for

inner development of man ?

(1) Hobbas (2) Locke
(3) Rousseau (4) Green
%Wwﬁmmﬁmm%m@a@m%?
(1) == (2) dieh
(3) &l @) @
49. Who is the author of the book entitled "The Democratic Thepry"?
(1) Macpherson - (2) Sartory
(3) Dahl (4)° Hegel

20
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“z ABfeH AN AHH G B AGH B 7
(1) Newds (2 WREr
@) =@ (4) BT

The Seventh Schedule of the Indian Constitution in related to :
(1) Forms of oath

(2) Allocation of seats of the Council of States

(3) Division of Powers between Centre and State

(4) Panchayat

A HRE A s s s @

(1) 9T & greq

(2) ™Y AT B I HT ST

(3) W= TN WA B HeF R H AN

(@) dEmEg

Who of the following revived social contract theory in a new form ?

(1) Amratya Sen (2) John Rawls
(3) Leo Strauss (4) Berlin
F=t & & Reas ariies e & Rigia @ sudm 9 w7 & Ry ?
(1) v 8= - . @ < A
@) @ =« (4) R
Who was the first to use labour theory of prdpcrty?
(1) Locke (2) J.S. Mill
(3) Bentham _ (49 Marx
21
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TRy & oW s &1 999 gfaqres @ or ?
L (2) . wa. fae
(3) a=m (4) e

53. Who said that property is a natural institution ?
(1) Plato (2) Aristotle

(3) Hegel (4) Marx

7% THET Hel 6 ey i dX 7

(1) ¥ (2) SR&
(3) Eris (4) HreRd

54. The Communist Manifesto was written in the year :

(1) 1830 (2) 1848 (3) 1856 (4) 1871
Hrgfee AhEl g4 ad # faern @

(1) 1830 H (2) 18487

(3) 1856 H ~ (4) 1871

55. The Concept of popular sovereignty is associated with :

(1) Locke (2) Rousseau
(3) Bentham (4) .Laski
St EHAT Bl TN g6k A T e
(1) i () =@
(3) e (4) SEn

22
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57.

58.
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Who supported the legal theory of right ?
(1) Laskii (2) Austin

" (3) Barker - (4) Hegel

BT ADR & Rsia @& gaedes S 2 ?
(1) Teht (2) erfes
(3) amER | 4) am

Who of the following thinkers said that in the State of nature two

contacts look place ?

(1) Bodin | (2) Hobbas

(3) Locke (4) Rousseau
ﬁmﬁﬁﬁmﬁ%aﬁaﬁsqﬁgﬁzﬁmﬁﬁwﬁ?f@?
(1) srat | (2) &g

(3) dm (4) war

In which of the following Theory of Rights it is said that Rights are

based on traditions and conventions of the society ?

(1) Theory of Natural Rights
(2) Theory of Legal Rights

(3) Historical theory of Rights
(4) Idealist theory of Right

40 P.T.0,
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59.

60.

fr & & oreR & fha Rysra & 98 wer T & 6 AR &
IR | IR od gerd § 7

(1) s rfteer &1 s

(2) SAfeHR 1 wrA FEET

3y e & Qeids s

(4) ferepe @1 SAEINAT ST

Who said that self preservation is the basic right of individuals ?
(1) Hobbas (2) Bodin

(3) Austin (4) Benthom

87 .

(1) e (2) s

(@) onR=A (4) S=H

Who of the following supported proportionate equality among citizens ?

(1) Plato (2) Aristotle

(3) Green _ (4) Marx

PR ARG @ W g TR A fopar ?
(1) =& @) &

@) (@) W

24
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62.

63.
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Who said that freedom is a positive power or capacity to do things
worth doing or worth cn_joying ?

(1) Rousseau (2) Bentham

(3) Hegel (4) Green

e fFaq wer % @dwar geres g ar amar ® R s 3
HE T Sa & S s IRg 91 AT aTd B aFg B § 7

1y =@ - (2) FH
(8) & (4) ;=
Who one of the following is ﬁot correctly inatched ?
(1) Plato Republic
(2) Aristotle Politics
(3) J.S.Mill Grammar of Politics
(4) Kautilya Arthashatra
M | | B gafem adf & 7
(1) <= Rafsses
(2) SR | USRS
(3) . uH. e IR 3% gifcifeerg
(4) s SICHlC
Who of the following is not a supporter of pluralism ?
(1) G.D.H. Cole (2) Mclver
(3) Laski . (4) Austin
Frfifad & DI agwar & quds a8 & o
(1) sit. €. gg. @ 2) Yepmay
(3) eI (4) Sliftes
25
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64. Who supported Partyless democracy?

(1) G.B. Pant (2) Sardar Patel

(3} Jai Prakash Narain (4) Rajendra Prasad
TAEM iehds 1 fha aaeds e

(1) Sit. &1, gq ; (2) WER g

(3) ST "wHIRT AR (4) S 99

65. Which one of the following is not correct about Marxism ?

(1) Historical Materialism (2) Class Struggle

(3) Welfare State (4) Labour theory of value
Frr § § &9 u& AedarR @ fawa & 98 T 7

(1) OfyeiRes AfErae (2) @i dud

(3) FHATOTHR I @) T A Ryear=a

66. Which is not correctly matched?

A | B
(1) Barker Pluralist
(2) Austin | Monist
(3) Rousseau Pluralist
(4) Gram Sci Marxist
Sre § @ B A T ¥ 7

& €l
(1) dwE SRRl
(2) ST TR
(3) =l E@'aﬁ'
(4) IR d |

26
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16P/241/3

Who said that in absence of economic freedom, political freedom is a

myth ?

(1) Hegel (2) G.D. H. Cole |

(3) Laski (4) Green

e f5aa e 5 onf¥ies w@d=ar & otwe ¥ woife @dIar
FHIeafys & ?

(1) &= (PIIS | o
(3) TEH (4) A=
Who one of the following is not 'correctly matched?
A B
(1) J.S. Mill Utilitarianism
(2) Hobbas Separation of Power
(3) Locke Natural rights
(4) Rousseau General will

T H R A ae gaAReT T8 R 7

. &1
(1) 1. uq. B - SYAfTarETE
4 e AMeFTgereRT
B o i iR
(4) =& GICEIE e )
27
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69. Which one of the following is not correctly matched ?

70.

71. Who said that state of nature was a state of peace and co-

A
(1) Marx
(2) Mclver
(3) John Rawls
(4) Plato

B
Democratic socialism
The modern State
A theory of Justice
The Statesman

et & § @ e gARTT TE ¥ 7

%
(1) =
() FewrEE
(3) Si9 s
(@) wraY

Gandhi Ji was influenced by :

(1)
(3)
T Sh wenfae A

(1) e |
(3) J= A

Hegel

Bentham

(1) Hobbas

(3) Rousseau

28

e
SAbfes AraReH
T A R
T & i SIied
T Reand
(2) Marx
(4) Tolstoy

(2) W |
(4) TEEE |

(2) Locke

(4) Green

operation?
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73.

16P/241/3

I fha Fer 6 upie orawem s o |earT # sraRen o?
(1) &= (2) o
(3) =4 | 4 #A=

According to Plato :

(1) State has evolved ' (2) State is prior to Individual
(3) State is divine (4) State is individual unit large
e B TIER -

(1) 9 s Rl deer
(2) T =RRE | o @ R

3) I~9 & ?

(4) ™9 ARREA @1 Q@i =g 2

Who said about general will that if it is a will it can not be general and

if it is general it can not be will ?
(1) J.S.Mill (2) Hobhouse
(3) Green (4) Laski

29
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74. Which of the following was the first Satyagrah initiated by Gandhi Ji ?

(1) Champaran Satyagrah (2) Non-cooperative Satyaghah
(3) Salt Satyagrah (4) Individual Satyagrah

Frer § @ @ wirelt STt & ey foham 1T ggeln §onE or Y
(1) =R GARE (2) STHSART TAIE

(3) THd dUBE (4) SAfREE qEEE

75. Which of the following is not properly matched

A ' B
(1) Maikiavelli The Prince
(2) Rouasseau ~ The Social Contract
(3) Nehru Discovery of India
(4) Marx State and Revolution

Prer & & e g & B 7

: b El

(1) Afparasit T fim

() =& g QI Heae
@ s | P olfw oS

(@) R Re s RAG

76. Who said, "Every state is known by the rights it maintains" ?

(1) Barker (2) Laski

(3) - Garner (4) Bryce
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I8 e w1 “UAE T UST SHRT q AFT Sar 27 7

(1) ST (2) DI

(3) TR (4) =9

Whosm name is associated with the Saptang theory of State ?
(1) Kautilya (2) Gandhi

(3) Aristotle (4) Maikiavelli

T & g« Rera & o Regesr a9 @ 87

(1) =ifesT @ | (2) et @y

(3) oIREg = (4) AfpaTEST FHT

Who supported the theory of cyclical change in the form of
government?

" (1) Plato ' (2) Aristotile
(3) Bentham (4) Mill
ﬁﬁrﬁﬁﬁﬁﬂﬁm%wqﬁaﬁ%%@amw&m?
(1) <y (2) SR
3) ey (4) P
Who propounded the theory of political obligation ?
(1) Rousseau- (2) J.S. Mill
(3) Hegel (4) Green
%aﬁavw%m:ﬁﬁasmﬁa%ﬁrmmwehﬁw?
(1) =@ (@) . Tq. Py -
(3) &R 4) A=
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80. i
Who said that man forgets the death of their father but not the
patrimony ? |

(1) Machiavelli (2) Hobbas
(3) Hegel (4) Manu

e P e o sy orat R o g B T e @ foeg A
e i et e |

(1) AframEch (2) ef=d
(3) &I (4) Hd
81. Which of the following is not considered as a component of national
power ?
(1) National Character (2) National Resources
(3) Party system . (4) Léadership
Gre ¥ Y A v af @ A @ /A ST g7
(1) s =Rk | (2) TSI HETE
(3) &= JoTel 4) Agd

82. In which of the following Constitution International peace and security

has been stated as one of the objective ?
(1) American Constitution
(2) French Constitution

(3) Indian Constitution

(4) Constitution of the Chinese Republic

32
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Fr=r & | Reg dfaas § srRisiig enfea wd gRam &l O 38T B
w7 ¥ e B = g 7

(1) SAR®T dRE= (2) shr 1 Hidur
(3) R @l Wi © (4 I TS H S

- The first non-aligned conference that took place in Belgrade was held

in the year :

@—Wﬁmmﬁqﬁfﬁaﬁsﬁgcmm 39 ag
AT famar @ e

(1) 1960 (2) 1961 (3) 1962 4) 1963

What purpose the balance of power theory attempts to achieve ?
(1) Status quo (2) Super power of the state
(3) Imbalance (4) War |

TRT-Hqe 7 Rrar=r R <= @ s s aredy & 7

(1) Far-Ryfy (2) TH T H gyar
(3) STHgw 4 IF=

In what year the U. N. adopted its Declaration of Human Rights ?

ﬁgﬂﬁwﬁﬁmaﬁwwﬁa}wﬁﬁﬂm?ﬁm?

(1) 1946 @) 1947 (3) 1948 @) 1040
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86.

87.

88.

The principle of "Panchsheel” was signed between India and China in
the year :

(1) 1951 (2) 1952 (3) 1953 (4) 1954

9 T YRG 7 39 g9 “dusiie’”’ 9¥ sweR R v
(1) 1051 # (2) 1952&_ (3) 1953 (4) 1954

Globalization means :
(1) Integration of political system
(2) Integration of world economy

(3) Integration of social system

(4) Integration of bureaucracy

Y-HUSHIRIOT BT 3T &

(1) Frea @ Toifas eIl & THIHTT
(2) fasa & o7ef HARITSAT BT THIHIT

(3) faga @ TR aEsl B ThiHT
(4) fasg & ArepRemel aES B THHTT

The Gujaral doctrine an pronounced by Indian Prime Minister Gujaral
was addressed to :

(1) China @ U.S.A |

(3) Russia (4) Neighbouring Countrics

.TH. T 9
miﬂq@ 2 I W8
(4) TSR I} |
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89. Indo-Soviet Friendship Treaty was signed in the year :

(1) 1971 (2) 1972 (3) 1973 (4) 1974
ART-Gifgad fBEar 9f g9 af & 8t 1€ of -
(1) 1971 H (2) 1972%  (3) 19734 (4) 1974

90. The Eisenhower Doctrine was concerned with :

(1) EastAsia (2) South Asia
(3) Middle East Asia (4) Europe
AFIEER ST & gy o ¢
(1) g&t ufsmr | (2) =férorT Wi @
(3) wea-gd wRmr @ 4) g9 &
91. ’I‘he_term cold war was used for the first time by :
(1) Stalin (2) Truman
(3) Barnard Baruch (4) J. L. Nehru
- T gT A= H UG UER qEw FEaT
(1) &= 3 (2) T
(B) S §=T A (4) . T A56 A
92. The Soviet Union invaded Afghaﬁistan in this Year :
(1) 1977 (2) 1978 (3) 1979 @) 1980
R G ¥ 580 9 srEmiraT 9% s fepar e
(1) 1977 % (2 1978%  (3) 1979 & (4) 1980
35
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93.

94,

95.

Main reason for the end of cold war was the policy followed by :

(1) Stalin (2) Breznev

(3) Gorbachov (4) Mao

M g= @l T H B A fhaent iy @ g i o 7
(1) T (2) ema

(3) TMETEE (4) wrew

Which of one following statement correctly describe the theory of
new-realism as propounded by Kenneth Waltz?

(1) Structures are more important than agents

(2) Agents are more important than structures

(3) International organizations are more important

(4) Human nature is more important

Bt § @ A U FoT A AT B Ag-FUREE H AGH T
AT 8 7

(1) ETaHld &al § Je&T §

(2) at w@xeel & g

(3) i weed geA ©

(4) WA @HE e ©

The main determinant of foreign policy is :

(1) to secure peace
(2) balance of peace
(3) to secure national interest

(4) to help international organization
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97.

98,
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faRer fifq @1 g=7 BT © -

(1) enf=T =hr &

(2) T GgEH H AT =T

() UshF fRat it miv

(4) STISHA Herelt @ wewEdr HA

The Second World War was fought between :
(1) 1939 to 1944 (2) 1939 to 1945
(3) 1940 to 1945 (4) 1940 to 1944

faciar fasags &1 g97 o

(1) 1939 & 1944 (2) 1939 § 1945

(3) 1940 § 1945 (4) 1940 & 1944

Who nominates the Chairman of Public Accounts Committee ?
(1) President (2) Prime Minister

(3) Speaker of Lok Sabha (4) Cabinet

b ET afy B oremy @y A T e B ?

(1) rsgafer (2) e

(3) M AT F T (4) w3 He|

How a member of the Union Public Service Commission is removed ?
(1) By the President

(2) By the Union Home Minister
(3) By the Process of impeachment

(4) By the Prisedent on the basis of a report of the Supreme Coyrt

37
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99.

F=0g dliep QAT STANT B T & Hd TR 39+ 98 | gl oA
gepaT & 7 |

(1) U & &

() FEE T Ew

(3) HEE & HEIERT & &

(4) Jeaay e @ ERT a4 T8 RO & SR 9 Usgaid )T

In the development of Public Administration what was correct order
of development of different schools?

() Scientific Management theory
(i) Human Relations therory

(iii Bureaucratic theory
(ivy New Public Administration

Code :
(1) (i), @), (i), (iv)
(2) (i), (), (iv), (i)
(3) (i), (iv), (i1), ()
(4) (i), (i), (iv), (1)
mq&ﬂﬂ?%ﬁﬁfﬁ%ﬂﬁﬁ%ﬁﬂﬂﬂﬁﬂﬁﬁﬂﬂ@aﬂl
FE & gegdl 9 g el Hd SRy
(i) =i geEd RS
Gi) wdr deedt @ R
(i) Arepemel ST
(iv) Tl Sieh-HLATE
B 2
(1) (i), @, @, (v)
(2) (i), (@), @) (1i1)
(3) (i), @), (@), 0
@ (), (), @) @
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100.The Concept of new Public Administration is associated with :

(1)
(2)
(3)
(4)

British Institute of Public Adminstration
American Society of Public Administration
Indian Institute of Public Administration

The Minnobrook conference

A T T B SR P AT FEE D

(1)

mfesr §eiege ot afe wshfrsm

(2) aﬁﬁm@mﬁeﬁtﬁm@ﬁﬁeﬁ
(B) g deieye ot ufs ceffrem

(4)

ity s

101. How thorne experiment relates to -

(1)

Scientific element in administration

(2) Human relations in administration

(3)
(4)

Financial element in administration

Organisational element in administration

aﬁmqsmﬁﬁuﬁwwwwru%:

(1)
(2)
(3)
(4)

e H 95NE aw @

S2EE § AMEg g6y g
SaEd ¥ o aq
gET F HIETws a3
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102. Who is associated with development administration ?
(1) Taylor (2) Elton May6
(3) Riggs (4) Weber
foreprey womEs A Reaen T B 7
(1) W (2) TEeS AdQ
(3) H (4)

103.Which of the following is the correct statement of the composition of
Public Accounts Committee?

Lok Sabha  Rajya Sabha Total Member

(1) 12 08 20
@ 15 07 22
@) 16 L -
@) 13 - 07 20

Rka\Niien] ﬁ'@!ﬁﬁﬂ'QﬂiGﬁﬁiéngrwﬁﬁﬁfq%‘ﬂ?%Fﬁi%‘EnnIfi¥ﬁﬂ
g7

A adl s A R I
) 12 08 20
@ o >
&1 i 06 22
3 07 20
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104. State Governers in the U. S. A. are :
(1) Elected by the Congress
(2) Appointed by the President
(3) Elected by the people:

(4) Elected by the members of State legislative

HYHT T SRS F Todt $ TR
(1) *HiTE sx1 Faita 8 &

(2) TUsuly @ Frge Y o ©

(3) ST & fhaifa 8 ®

(4) T N qed & qet @ g faike a9 ¥

105.The British Prime Minister is :
(I) Nominated (2) Selected

(3) Elected (4) Appointed

Rafest e st Rear ot B
(1) = 2) =&t
(3) Faifaa (4) Frgaa

106.Modern Party system originated first in :

(1) U.S.A (2) France

(3) Britain (4) India

41 P.T.0.
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Y I TAT H ST fhE e H g3 7
(1) HgFa g AR d 2) wig #
(3) fores # @) =g H

107.Which one of the following country assigns residuary power to central

Government?
(1) U.S.A. (2) Switzerland
(3) Australia (4) Canada

Rrer & @ 9 T 231 TN ARRIET S TR B A 7
(1) ©gFRT I STARDI (2) WiesRATS
(3) e (4) HAET

108. Who wrote the book entitled "Comparative Politics - A Developmental

Approach" ?
(1) Lasswell (2) Easton
(3) Almond (4) Parsons

H B 7
(1) s (2) T

(3) STEH"S (4) TREH
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109.The Indian President can consult The Supreme Court under
Article.....of the Constitution :

ARG Ul Seaay Ay O |§RaE 8 ... JATW|ET B
=TT qeHel HY gehar
(1) 141 (2) 142 (3) 143 (4) 144

110. Which of the following principles operate in a Presidential form of
government ?

Answer with the help of code given below :
(i) President has real powers

(ii) President is responsible to legislative
tiii] Seperation of powers

(iv) President is not responsible to the legislative

Code :
(1) i, ii, iii, iv (2) i, iii, iv, i
(3) 1, iii, iv, ii (4) i, ii, iv, iii

ﬁwﬁ-‘fﬁaaﬁ@mwawnﬁﬁsmﬁﬁﬁﬁwmwé?
2 #te Rar mr & -

(i) safey @ ofdd arafs e 2

(i) TGRS s & afy Searh drar &
(ii)) Ry fawrem @1 i
(ivjm%mmﬁaﬁr%nﬁrmﬂﬂﬁm%
Hs

(1) 1, i, i, iv @) i, i, iv,i

(3) 1, iii, iv,ii (4) i, i, iv,iii

13
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111. Who said that the U. S. President is more and less than the British

King : he is more and less than the British Prime Minister ?

(1) Lawell (2) Laski

(3) Munro (4) Finer
wmﬁw%ﬁgﬁwmwv@%%ﬁﬂﬁawﬁ

mﬁ%ﬁmﬁ%:ﬁmﬂumﬁﬁmﬁ%ﬁi
Eﬁq‘i‘ﬂ%:

(1) wmEa (2) Tt
(3) FT (4) BT

112. Which of the following is called mother of Parliament ?
(1) Indian Parliament |
(2) U.S. Congress
(3) British Parliament

(4) Federal Assembly of Swetzerland

ﬁrﬁﬁ@%ﬁﬂﬂﬁaﬁm‘rﬁqﬁ%%?
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113.In which of thé following Indian State the office of the Lokayukta was
established first?

(1) Bihar (2) Rajasthan

(3) Maharastra (4) Assam

M1 7 | b st o & g A Pigla w=d gew @ T 7
(1) R (2) ST

(3) HERTE C(4) SEH

114.In which of the following form of government the upper house of

Parliament is necessary?

(1) Parliamentary form (2) Presidential form
(3) Unitary system (4) Federal form

ﬁﬁrﬂ‘@ﬂwaﬁﬁmwﬁawwa&mmﬁﬁ?ﬁé?
(1) HE< =g § (2) STHEIS o I
(3) THE WX =agey H (4) HHT OB Faer 7

115. Which one of the following is met correctly matched?

A B
(1) India Federation form
(2) U.S.A. Presidential form
(3) Australia Unitary Government form
(4) Switzerland Plural Executive
45
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1 # 4 3 o gAfaa T8t 87

% &l

(1) ¥Rd | el SAIe

(2) HgF T AR STETEITCHS HIET

(3) ATESfeTAT ehTcHeh TR SATET
(4) wiesRas gl BT

116. Which one of the following is not correctly matched ?

A B
(1) Proportional Representation Thomos Hare
(2) Professional Representation G. D. H. Cole
(3) More than one Vote J. S. Mill
(4) Only educated should have Rousseau

right to vote

Rrer & @ 9 U gAfea 8 € 7

£ €l
(1) ST SfafHiee RIS
(2) =AEEiaE S Sft. €. . B
(3) uH § AfgS A . wg. W

(@) Faw RifEd & @ Ad =4l
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117.Who holds the view that proportional representation is situation of

development of multiparty system?
(1) ‘Lenin ' (2) Mitchels

(3) Duberger (4) Bentham
%Mm%%mﬁmnﬁﬁﬁawmaﬁrmw
8?

(1) = (2) PR

(3) g () e

118. When the Communist (Marxist) of India was formed?

'Wwﬁwmﬁ(m@aﬁ)aﬁwwgéﬁ?
(1) 1960 (2) 1961 (3) 1963 (4) 1964

119.Who has said that the British Prime Minister is “The Sun around

which other planets revolve" ?

(1) Harold Laski (2) Ivor Jennings

(3) Lord Morley (4) Walter Bagehot

%%ﬁwmﬁs%ﬁwqaﬁﬁsﬁ%wéﬁﬂ%mﬁéﬁ%
o & 7

(1) ez areh (@) @ o

(3) @ Ara (4) AR Sorere

7 P.T.0,
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120.What is the maximum term of the American President ?
(I} 10 Years (2) 08 Years

(3) 09 Years (4) 12 Years

eﬁﬁﬁi@ﬁwaﬁmmﬁﬁmaﬂ%?
(1) == a9 (2) ome ad
(3) =t ad (4) «XE ad

121. What makes power authority?
(1) Charisma (2) Legitimacy

(3) Force (4) Tradition

oiferd e gar § Soot © 7
(1) HReeT & (2) Juar |
(3) T & (4) 9090 |

122.What is true about caste?
(1) Casteis an economic Category
(2) Casteisa social Category
(3) Caste is a political Category

(4) Casteisa moral Category
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oy & o § T oEg w7
(1) oY wh onfdes daf &
(2) i wesh G Eait B
(3) ST weH TS WAt B
(4) Sfq g Afs d@ot §

123.Who has given the concept of iron law of oligarchy ?

(1) Robert Mitchell (2) Mac Pherson

(3) Lenin (4) Maurice Duverger

AT & dre Fraw w el afeuRe R D2
(1) = PrEw (2) A% B
(3) aFT (4) HIRE gasik

124. Under which article of the Indian Constitution President has the power
to issue ordinance during recess of Parliament ?

(1) Article 118 (2) Article 119
(3) Article 122 (4) Article 123
et 7 SRy WA #Y ) af o Ay S 7
(1) STg=8% 118 (2) TTW/T 119
(3) SIg=BT 122 (4) STIT 123

49
P.T.0.



16P/241/3

125.Who believed in the divine origin of State ?
(1) Manu (2) Plato

(3) Aristotle (4) Hegel

T F 3 SaRy & fmred @ e A § 7

126.Who said that political system is concerned with "authoritarian
allocation of values"?

(1) Apter (2) Almond

(3) Charlesworth (4) Easton

%Wwﬁwﬁﬁmmmﬁvﬂ“@%m
fHefror” & 8 7

(1) T=X (2) TS

(3) dredad (4) FEA

127.Which article of the Indian Constitution provides for participation of

workers in management to industries ?

(1) Article 43 (2) Article 43 A

(3) Article 45 (4) Article 47

50
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HiauTT & fohd STge8e % aRT e & g F HHbRI B qn o
1 grEEE fRar T B 7

(1) STg=BT 43 (2) STI=BT 43A
(3) STTWT 45 (4) STTBT 47

128. Which one is not correctly matched?

A B
(1) Social contract J. S. Mill
(2) Individualism Spencer
(3) Idealism Hegel

(4) Dialectical Materialism Marx

Pt § & A g w2

H 9
(1) |rferen Hﬂs‘ﬁm 3. ug. e
(2) =fFaTE I
3) omastars g
(4) EETE Dywar wferd
51
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129. Who said, "Socialism is live a hat that has lost its shape because

every body wears it ?"
(1) G.D. H. Cole (2) C.E.M. Joad

(3) T. H. Green (4) H.J. Laski

S b B T e I 9ot & 87 7

(1) S, €t o=, @ (2) . & TH. S
(3) &. wH. A+ (4) TH. ST, TR

130.Which one of the following is not a work of Jawaharlal Nehru ?

(1) Discovery of India

(2) The Unity of India
(3) Glimpses of World History

(4) Socialism and the National Revolution

Tﬂﬂﬁﬂf@ﬂﬁﬁiﬁﬁ-ﬁlﬁﬁwﬁ%ﬁ%ﬁ%?

(1) & fewpadl ot gfosar

@ f& gFFa eh S

@) Prerade o ace feEd

@) Qe T8 & Aewa Racge™
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131. Which one of the following is a distinguishing feature of India's foreign

policy ?

(1) Stress of non-alignment
(2) Joining of American bloc
(3) Joining of Russian bloc

(4) Intervention in the internal affairs of neighbouring states

FrfRed & & @1 wRa & RRer AR @ oge @eer 27
(1) TeFraeran

) mﬂﬁmgﬁﬁaﬁqﬁ

(3) ®HI Je § qiwes

(4) ISIE IFE F AR At ¥ seddy

132, In which Congress session the moderates and extremists were united ?

(1) Lahore (2) Bombay

(3) Allahabad (4) Lucknow
m%mmﬁwwwwmaﬁa?
(1) @R L@ T

(3) zemEIER (4) =TS
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133.The Tenth Constitution Amendment Act. 1985 is famous for

envisaging:

(1) Anti-corruption law

(2) Anti-landmine law

(3) Making the right to property a legal right

(4) Anti-defection law

et wiPeT w1085 e afteea & R ofs ¥ 7
(1) wemErR MRS S

(2) T ACSHIRT ELA
(3) TRy & AMBRT & FHAT BRI TAT

(4) I-S& FRIES BT

134.The Directive Principles of State Policy are borrowed from which of

the following ?

(1) U.S. Constitution (2) Constitution of South Africa

(3) Constitution of Ireland (4) Constitution of Canada

o 3 <R e R E @ P R T 7
mqmﬂﬁmﬁ (mmwmm%ﬁmﬁ
(3 S & dfas (4) e B EEEE |

54



16P/241/3

135.Who is known as the 'Father of Public Administration' ?
(1) Dwight waldo (2) Chanakya

(3) Thomas Woodrow Wilson (4) Herbert Simon

a%w‘aﬁzﬁgam%m’% w9 H I I § ?
(1) sEse arsr @ T
(3) IFH g fawww (4) =& |RHA

136.Which is the highest level of judiciary in U. K. ?
(1} House of Lords (2) Supreme Court

(3} Crown ' (4) Cabinet

3. & F Ioaom W B AEaRE 9 7
(1) @ | (2) wEET ARy

(B 3FE (4) #HHSS

137.How much is the quorum of the Lok Sabha in India ?
(1) One-third of the tota] membership of the Lok Sabha
(2) Two-third of the total membership of the Lok Sabhg
(3) One-fourth of the total membership of the Lok Sabhg

(4) One-tenth of the totg] membership of the Lok Sabhg
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ARA H e FHT 1 HIRY fha=m ear & 7

(1) % |7 &I FHor e & Uh feR aew
(2) o G Hw €EA B A ReR qEE
(3) W | H HA G W TH AU T
(4) oH AN B e G B THd GET D HEEA

138.Which one of the following ideas is integral to Marxism ?
(1) Dialectical materialism (2) Nationalism

(3) Socialism (4) Regionalism

Brer X ¥ S-w R Teas | ffEa '

(1) == s AieparE (2) TsEAE
(3) THmER (4) &=as

139."Laws are necessary relations arising out of the nature of things"

Who said this?

(1) Rousseau (2) Hobbes

(3) Locke (4) Montesquieu
fl:ﬁma@ﬁaﬁnﬁﬁﬁmwwﬁaﬁﬁﬁ%—

a2 fraa el ¢

ieh (4) AR
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140.Who propounded the theory of power elite?
(1) Mosca (2) Pareto

(3) C. Wright Mills (4) Sartori
st St STIYTION T gfqqrees P 2 7
(1) t?rasr (2) GEr

(3) . WEe-faew (4) AR

141."Justice is the interest of the stonger”. Who said this ?
(1) Cephalus (2) Polemarchus
(3) Thrasymachus (4) Plato
TN w1 s ¥ ? 9 g @y 7

(1) ArrE (2) DfmREE
(3) ofAw @) Q@

142.A money bill can be detained in the Rajya Sabha for how many days?

m%ﬁwwwﬁﬁmﬁ-wwﬂwwmg?

(1) 12 R 14 (3) C 4) 1g
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143.Who wants to establish close relation between politics and morality?
(1) Mao (2) Hegel

(3) Mussolini (4) Gandhi

WﬁﬁaﬁTﬁﬁw%qwqﬁ%Wﬂaﬁwﬁﬁmm
g7
(1) = 2) &

(3) A o (4) TR

144.Who among the following is a supporter of limited Sovereignty ?

(1) Bodin (2) Hobbes

(3) Locke (4) Rousseau
e & @ B fta T S arded T 7
(1) dr (2) &

(3) «ofich (4) w

145. National emergency proclaimed by the President continuous for the

period ?
(1) Six months
(2) One year

| @) Two years

(4) Till it 1s revoked by the President
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TS ERT iy T St fhen @9 & R @ g @ 7
(1) B : 9&m

(2) TH ay

(3) @ g

(4) v T TR T e

146.Which one of the following statement is not correct ?

(1) Locke is a liberal | (2) Hegel is an idealist
(3] Rousseau is a Pluraljst (4) Mosca is an elitist
Frafifee & @ @ wom aft 78 & 2

(1) it Serard ¥ 2) & oS ¥
(3) =& Sgwar ¥ (4) HrER ey €

147.The headquater of the United Nation is located at ;
(1) Washington (2) Newyork |
(3) London (4) Paris
VI TE F GEART et Rer & 7
(1) arefres & (2) g §
(3) w= (4) IRg
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148. Which one of the following is not a non-aligned country ?
(1) India (2) Brazil

(3) Sri Lanka (4) France

frefeiag § @ @ ey 39 T 2 7
(1) ¥Rd (2) S

(3) =feiepT (4) W

149. Which one of the following is not true about Idealism ?
(1) Stateis an evolved institution
(2) Freedom is possible only under the State
(3) State is the highest evolution of world spirit

(4) State originates from a contract among individuals

%{ﬂ%{ﬁ‘ﬂﬁﬁ@rﬁﬂmﬁﬁ%ﬁwﬁwaﬁ%?h
(1) o U T e

o) e ol @ e A E
ﬁsaﬁmmﬂaﬁmmﬁmﬂm-ﬁam%
rwﬂaﬁmﬁaﬁﬁﬁ%mﬁ%ﬁé’ﬁﬁ%

(3)
(4)
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150.By which constitutional amendment 'Right to Property' was delected
from the list of Fundamental Right ?

(1) 24th (2) 39th (3) 44th (4) 42nd
S % Row dfeT am wmiy 3 ol @ A s
q e Rar mar & ?

(1) 243 2) 39F (3) 44% @) 428
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